1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

Important Note :

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations wrilten eg, 4248

USN &4/
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) Module-1 y
a. From the I* prm(:lplﬁs locate the centriod of right angled trlang!e " (10 Marks)
b. Forthe composite sec’fmn nhown in Fig. 1(b) locate the centmld (10 Marks)

el

a. From the 1% principle determine” 1}10 noment of mema of a Rectangle about its base and
about its centrtodal Ax1s a s L (10 Marks)

axis.
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- Module-2 z
F01 A cantllever beam of span L mts subjected to a print load W KN at; free end draw
bendmg moment diagram and shear force diagram. £+ /(08 Marks)

A s:mply supported beam is subjected to forces as shown in Fig. Q3 (b) Dr w BMD and

SFD for tne same (12 Marks)
N [
Fig. Q3 (b)
; OR
An overhang Beam is subjecfcd to forces as shown i 1h\, Fig. Q4. Draw the BMD and SFD
and indicate all salient points. \ (20 Marks)
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.‘;\}iodule B
What are the Assumptions made i m Bending theory? - (05 Marks)
What is section modulus'7 Caiculate the section modulue for Rectangular section, circular
section. Vs (06 Marks)

A rotted steel Joist of I, \BC [ ‘1"has the dimensions as shown in Fig Q5(c). The beam carries
a UDC of40kN/mt run on\a-’span of 10mts. Calculate maximuin i)endmg stress. (09 Marks)
v L K—200—> *

i e

20

lebe

o
z:"_l_j_,

k— 280 —>
Fig. Q5(c)

2 0f 3



10

15ENG2.5

OR

'-’“rove that Max shear stress in a Rectangular section is 1.5 Average shear stress. ¢ {lwvlarks)

Al cantnever beam of span Smts carries a UDL of 6 kN/mt over the entire span. ©
mammum Scope and maximum deflection. Given E=2 x 10° N/mm* [ = 2><1O m_m

(10 Marks)
N Module-4 7
For different %-bd"-"ondltlons obtain Euler’s expression for Buckmg [oad of columns.
: (08 Marks)

Calculate the safe compresswe load on a Hollow cast iron colufin- (one end fixed and other
hinged) of 15¢ms e}d"rnal diameter and 10cms mtemal dia and lﬁmts in length use Euler’s
formula with factor ofscv“et’v 5.E=0.95 x 10> N/mm®. \V (12 Marks)

Define : g~ P A

i) Effective length ofcolumn - :

ii) Crippling load Gl

iii) Slenderness ration = ) (06 Marks)
Determine the crippling load for a T 5';: stion of dlmensmns 10cm x10cm % 2cm and length
Smts.when it is used as strut with both afits ends hinged. Take E = 2.0 x 10° N/mm?®.

(14 Marks)
Moile S50
Define short column and long column-as per 1S456 2000, (04 Marks)

Design a square column to carry a Workmg load of 980kN The grade of concrete and steel
are My and Fe 415 respectwelv 2 (16 Marks)

¥ 'f'u1red to carry a load and 980kN on reu", fwuldr columns of size
300mm><400mm the'.ﬂrade of steel and concrete are Fe 415 and My reapectwely and Fe 415

) (12 Marks)
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